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QUESTION 1

You create a BizTalk Server 2010 application that consumes a Microsoft Windows Communication Foundation (WCF)
service. This service uses BasicHttpBinding. An orchestration in the application occasionally processes messages of
variable size. You need to accommodate the variable message sizes by specifying the timeout value. 

Which context property should you use? 

A. WCF.OpenTimeout 

B. WCF.SendTimeout 

C. WCF.TimeToLive 

D. WCF.LeaseTimeout 

Correct Answer: B 

 

 

QUESTION 2

A BizTalk Server 2010 orchestration consumes a Microsoft Windows Communication Foundation (WCF) service. A
request-response call to the WCF service is made inside a non- transactional scope. The scope has an exception
handler that has its Exception Object Type property set to the type of the fault operation returned from the service. The
handler receives the fault message. The WCF service throws a typed fault exception named WidgetException. You
need to extract the exceptions detail node from the fault message. 

What should you do in the WCF send port configuration? 

A. Set the Propagate Fault Message option to True. Specify the source of the outbound WCF message body by
selecting Template. In the XML expression box, enter the XML of the WidgetException message. 

B. Set the Propagate Fault Message option to True. Specify the source of the inbound BizTalk message body by
selecting Path and entering the XPath expression for the WidgetException node. 

C. Set the Propagate Fault Message option to True. Specify the source of the inbound WCF message body by selecting
BizTalk Request Message Body. 

D. Set the Propagate Fault Message option to True. Specify the source of the inbound BizTalk message body by
selecting Envelope (soap:Envelope). 

Correct Answer: B 

 

 

QUESTION 3

You are configuring a BizTalk Server 2010 environment with one server running Microsoft SQL Server for the BizTalk
databases and Enterprise Single Sign-On (SSO) store. There are two BizTalk servers. All software has been installed.
Both BizTalk servers will share a BizTalk group. You need to complete the installation in this environment. You start the
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BizTalk Server Configuration wizard on both BizTalk servers. 

What should you do next? 

A. On BizTalk Server 1, select and apply Basic Configuration. On BizTalk Server 2, select and apply Basic
Configuration. 

B. On BizTalk Server 1, select Custom Configuration. Create a new SSO system and BizTalk group on the server
running SQL Server. On BizTalk Server 2, select Custom Configuration. Create a new SSO system and BizTalk group
on the server running SQL Server. 

C. On BizTalk Server 1, select Custom Configuration. Create a new SSO system and BizTalk group on the server
running SQL Server. On BizTalk Server 2, select and apply Basic Configuration. 

D. On BizTalk Server 1, select Custom Configuration. Create a new SSO system and BizTalk group on the server
running SQL Server. On BizTalk Server 2, select Custom Configuration. Join the existing SSO system and BizTalk
group. 

Correct Answer: D 

 

 

QUESTION 4

A BizTalk Server 2010 messaging-only solution is used to process XML messages. The pipelines used in the receive
location and the send port contain the XML validator pipeline component. Routing for failed messages is enabled on
both the receive port and the send port. When validation fails on the receive side, messages must be routed to Send
Port A. When validation fails on the send side, messages must be routed to Send Port B. You need to create
subscriptions for Send Port A and Send Port B. 

What should you do? 

A. Set the filter for Send Port A to Error.SendPortName Exists. Set the filter for Send Port B to Error.ReceivePortName
Exists. 

B. Set the filter for Send Port A to Error.ReceivePortName Exists. Set the filter for Send Port B to Error.SendPortName
Exists. 

C. Set the filter for Send Port A to BTS.ReceivePortName Exists. Set the filter for Send Port B to BTS.SPName Exists. 

D. Set the filter for Send Port A to Error.ErrorType == ReceivePort. Set the filter for Send Port B to Error.ErrorType ==
SendPort. 

Correct Answer: B 

 

 

QUESTION 5

A BizTalk Server 2010 solution contains an orchestration that uses a Scope shape. At run time, an error occurs in a
shape that is placed after the Scope shape. The orchestration does not contain logic to compensate for what happened
inside the Scope shape. You need to add a compensation block to the Scope shape. 
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What should you do? 

A. Set the Transaction Type property to Atomic. Set the Isolation Level property to Read Committed. 

B. Set the Transaction Type property to Long Running. Set the Synchronized property to True. 

C. Set the Transaction Type property to Long Running. Set the Compensation property to Custom. 

D. Set the Transaction Type property to Atomic. Set the Isolation Level property to Serializable. 

Correct Answer: C 
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